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ﬁfﬁi TREOBBOEILADKRES TREDHBEILADKRES TREOBBOEILADKRES TREDHEBSSLHDKRES
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BloEs | o e T | B2 | w2 e [T e e | B2 | o | e
1 100kN/MZ#8% % — -~ = —|3mZzBZzB| — ~ — - —| 100kN/mMZE#B 2% — -~ — —|3mZEHBZB -~ — — —
Thist 1.00 [ 000 ~ 3.15 46.92 | hLlst | 0.00 ~ 0.00 | 1.57 6.90 Thilst 100 | 500 ~ 500 46.92 | #hLlst | 500 ~ 500]| 1.57 6.90
9 100kN/m#E#BZ % - -~ — —|3mZEBAD -~ - - —| 100kN/mM%#BZ % - -~ — —|3mZEBAD -~ — — —
Zn Lot 1.00 | 0.00 ~ 348 5140 | Znlist | 000 ~ 0.00 | 1.63 717 Zn Lot 1.00 | 500 ~ 5.19 5140 | Zhllst | 500 ~ 519 | 1.63 717
3 100kN/MZ#8 % % — -~ = —|3mZzBZzB| — ~ — - —| 100kN/mMZE#B 2% — -~ — —|3mZEHBZ 3 -~ — — —
Thist 1.00 [ 000 ~ 451 66.15 | ZhList | 0.00 ~ 0.00 | 1.64 7.21 Thist 100 | 500 ~ 731 66.15 | ZhLlst | 500 ~ 7.31 | 1.64 7.21
4 100kN/m#E#BZ % - -~ — —|3mZEBAD -~ - - —| 100kN/mM%#BZ % - -~ — —|3mZEBAD -~ — — —
Zn Lot 1.00 |1 0.00 ~ 478 7015 | #nlist | 000 ~ 0.00 | 1.66 7.31 Zn Lot 1.00 | 500 ~ 7.76 7015 | #hlist | 500 ~ 7.76 | 1.66 7.31
5 100kN/MZ#8 % % — -~ = —|3mZzBZzB| — ~ — - —| 100kN/mMZE#B 2% — -~ — —|3mZEHBZ3 -~ — — —
Thist 1.00 [ 000 ~ 474 69.54 | ZhLlst | 0.00 ~ 0.00 | 1.70 747 Thist 100 | 500 ~ 742 69.54 | ZhLlst | 500 ~ 742 ] 1.70 747
6 100kN/m#E#BZ % - -~ — —|3mZEBAD -~ - - —| 100kN/mM%#BZ % - -~ — —|3mZEBAD -~ — — —
Zn Lot 1.00 | 0.00 ~ 476 69.86 | x4t [ 000 ~ 0.00 | 1.66 7.30 Zrn Lot 1.00 | 500 ~ 7.73 69.86 | ZnLlst | 500 ~ 7.73 | 1.66 7.30
7 100kN/MZ#8 % % — -~ = —|3mZzBZzB| — ~ — - —| 100kN/mMZE#B 2% — -~ — —|3mZEHBZ3 -~ — — —
Thist 1.00 [ 000 ~ 479 7022 | #hilst | 000 ~ 0.00 | 1.69 7.44 Thist 100 | 500 ~ 756 7022 | #hLlst | 500 ~ 756 | 1.69 7.44
8 100kN/m#E#BZ % - -~ — —|3mZEBAD -~ - - —| 100kN/mM%#BZ % - -~ — —|3mZEBAD -~ — — —
Zn Lot 1.00 | 0.00 ~ 5.10 7484 | #nlist | 000 ~ 0.00 | 1.74 7.64 Zrn Lot 1.00 | 500 ~ 8.08 7484 | Fnblist | 500 ~ 8.08| 1.74 7.64
9 100kN/MZ#8 % % — -~ = —|3mZzBZzB| — ~ — - —| 100kN/mMZE#B 2% — -~ — —|3mZEHBZ3 -~ — — —
Thist 1.00 [ 000 ~ 355 5242 | Zhilst | 0.00 ~ 0.00 | 1.72 7.55 Thist 100 | 500 ~ 500 5242 | ZFhLlst | 500 ~ 500 ]| 1.72 7.55
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/m%#8Z % ~ IMEHEZD ~
Zh s ~ ZhnList ~ Zh st ~ ZhnList ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
Thist ~ Zh st ~ Thist ~ Zh st ~
100kN/m#%E#BZ % ~ IMEHEZD ~ 100kN/m%#8Z % ~ IMEHEZD ~
Zh s ~ ZhnList ~ Zh st ~ ZhnList ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
Thist ~ Zh st ~ Thist ~ Zh st ~
100kN/m#%E#BZ % ~ IMEHEZD ~ 100kN/m%#8Z % ~ IMEHEZD ~
Zh st ~ ZhList ~ Zh st ~ ZhLst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
TS ~ ZH LS ~ TS ~ ZH LS ~
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